ANSWERS ~> F:j)(c-:rc ise .13
M mer o
A bowl contains 3 White and 8§ black balls.

I
b) P(black and black)

a) P(white and black)
= P<w) x P(b |w) = P(b)x Plb|b)
= __ 5_ = D X H
8 8 1
= ﬁ = _2_'0‘
Sk 56
-5
C)P(th-e. and wWhite) |4
= Plw) x P(wlw)
= o X 2
8 7
= b
56
= 3

28



2. A bO‘S contains A nickels and 6 quarters

a) P(nickel and quarter) b)P(quarter and *q\ckel)
Pln ) x p(ctlcl“:

= = Plq) x P(ﬂ!
= M X b = b x4
Te) G 1O o
= L X 2 =3 x4
5 3 5 9
= 4H = 12
15 45
C)P( uarter and q_,uo.r'hir) = ?5'
= Pq( ) % P(cL )
= b x5
10 9
= 3 x5
5 9

p—

IS
H5
e

3



ci)). A box contains G black thps, 4 blue (lhips
b) P(blue and blue and blue)

a) P(black and blue) :
= Plblack) x P(blue[black) = P(b) x P(b|k) x P(b|2b)
= &6 x9 = 3 x 8 x1

15 14 15 I+ I3
= 2 x99 = 2 X4 X
5 4 5 7 18
= 18 =l
70 455
= 9 = 12
35 63

d)P(bond b and b and b and b and b ard b) ‘ _
=P(bYx Pb]b) % P(b)2b) % P(b|3b) X P(b |4b) X P(b |5b)x P(bj)
= X5 x 4 x 3 x 2 x L x0
15 14 3 12 I 10 9
= O XmpossTeikr?



Ya) iNDEPENDENT‘/DEPENDENT EVENTS .

Similarities Differemnces .
[ P R

L S W T W e
° To get both you
find the product
of individual
pro babilities .

* Numx‘:ra“l'orsf Pencminators
change (¥ one event
'S dE:pe_nden"r on ancther.

B. A box has 3 hocke\/ and & football cards.

a) P('hockey and hockey) b) P(hockey and football)

= P(h)x P(hk) = Plh)x P h)
= 3 X 2 =3 X &
9 8 9 8
= L x. 1 = 1L x.3
3 4 3y
= L =

e

12 - |

3
2
=1
L‘.



©. A box contains 100 plugs, 5 are defective.

Q) f’( defective P\uﬁ) b) PC‘QO'F defective)

_Zi = | = P(defective)
100 = | —_1L
:__j_ 20
2,(:3 = ALk —. 1
e«
= 11

20



1) P(defective and defective)
= = \%(ddcewcfchx\?e) Xe SEd\;.%ﬂd*\\fC’_)
= 5 e
OO 99
A X 4H
0 aq
= =
1980
445
d) P(net defective and Not defective)
'I- P(dﬂ?e@hv& and defective)
b —_1
4495
445 -1
L+CPS 495
= 494
Hq5 .

I

il

If



7. Class ~> Ik giris, 14 boys .
Q) P(?n’\ and girl) b) P(boy and boy) c) P(bc:-y and wl)

) x P( '3) =P(b)x P(blb) = P(b)x 1
— _L(o_ X 15 =14 x 13 = 14 x
30 29 30 29 30 g_q
= 8 x 15 =T x 13 =17 xl
15 29 IS 29 15 29
= L20 =91 = h2 (O P
435 H55 435 i

= 5 212D R2=224
29 435 435



8. 24 Cards a) P(number and 'comci-ric"lﬂ'iﬁureg
+ F’s O>9 = PChumber) X (Se,omﬁJrrt‘cl#
a ZtcLuila'i-cra{ A’S = 1o % IY

» 8 rectangles 24 23

° 3 squares = 70

* M parallelograms 2176

° Circles =35

o —

138



b) P(mumberand number) ¢) P(A and O)

= P(3#) % PG $) = P(A) x P(O]A)
=10 x 9 - A XL
24 23 24 43
= X 9 = 1 X2
759: 23 12, 23
= 45 =_2
276 276
'-_'-ii = _L

e 138



d) P(p

aralle| and even)

= P(p) X Ple|p)

24

b
5

—

5 x5
|2 23
= 8

76

e) P(-Fisure, wWithout right angle and ParaHeloSmm)
= P(no right) X P(pam\lelogram, no r1'3h+)

=4
24

— F
= ‘
——

—
.

17
13

G

K.
23
X 1
23

g

10
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